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Time : 3Hrs. Sem - I/II(G)

Engg. Physics

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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11.

of a circular disc about an axis passing through it 

centre and perpendicular to its plane.

momentum prove it. Give any one of the 

application of  conservation of angular 

momentum.

OR

8
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

Which is fundamental unit ?

(a) Unit of area

(b) Unit of mass

(c) Unit of force

(d) None of the above

Which pair have same dimension ?

(a) Force & Momentum

(b) Work done & Torque

(c) Momentum & Energy

(d) None of them
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How would you over come the energy crisis in 

coming days.?

If a body dropped freely from a the peak of a tower 

it reaches ground after  3 second. Calculate the 

height of tower.

V = u + at

A body is projected with 10 m/sec making an angle 
0

30  with horizon. Calculate the maximum height it 

acheived and range.

OR

10.

8

OR

(iii)

(iv)

(iii)

(ii)

generally.

(a) 1 mm

(b) 0.1 mm

(c) 1 cm

(d) None of the above

measure .

(a) Radius of curvature of a surface

(b) Radius of a ball

(c) Both of them (a) and (b)

(d) None of them
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OR

How does a nuclear reactor works explain with 

proper chain reaction equation and how does it 

control.

What are the radio active rays give their comparative

chart.

(a) Noise Pollution

(b) Radiation hazard and safety thereof.

8.

8
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9.
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(iv)

(v)

(v)

(vi)

(a) Current of a circuit

(b) Potential difference between two points 

     of a circuit

(c) Both of them (a) and (b)

(d) None of them

(a) Series in a circuit

(b) Parallel to a circuit

(c) Both (a) and (b)

(d) None of them
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(vii)

(vii)

(viii)

(vi)

The vector quantity has

(a) Only magnitude

(b) Only direction

(c) Both magnitude as well as direction

(d) None of them

(a) Energy

(b) Mass

(c) Time

(d) Force
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OR

Give the clear concept of photo electrical effect

Define the term 

(a) Threshold frequency

(b) Work function

(as) Medical use in glucometer

(b) Exposure meter

7.

                 GROUP  - C

8 x 5 = 40
Answer all Five Questions.
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(viii)

(ix)

(ix)

(a) Body is accelerating

(b) Body is decelerating

(c) Both (a) and (b) is true

(d) Neither (a) nor (b) is true

is ?
0

(a) 30
0

(b) 40
0

(c) 45
0

(d) 90

(x)

15
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Define electrical field intersity and write its formula.

down its formula.

4
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The maximum value of friction appears in

(a) Sliding motion over a rough surface

(b) Rolling motion over a rough surface

(c) Jumping motion

(d) None of them

speed then

(a) Direction remains constant

(c) Velocity changes

(d) None of them

(xi)

(xi)

(xii)

(x)
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Define dimension. Write down the dimensional 

equation of viscosity coefficient and impulse ?

any one process of transmission of heat.

What is R.M.S. value of current explain.

R.M.S. 

formula and calculate it for earth.

OR

OR

4

4

4.

5.
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In simple harmonic motion which statement 

is correct.

(a) Acceleration is inversely proportional to 

      displacement

(b) Acceleration is directly proportional to 

     displacement but in opposite direction

(c) Acceleration is directely proprotional to 

      displacement but in same direction

(d) None of them

(xii)

(xiii)

(xiii)

13

OR

What do you mean pitch in screw gauge write 

down the formula of its least count.

In a slide callipers main scale 2cm. Vernier scale 

reading is 5 and least count is 0.01 cm then what 

is the value of its measurement.

0.01 cm
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Answer all Five Questions.
4 x 5 = 20

3.

4
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Relation between G and g is
2(a) g = GMR

(b) g = GM/R
2

(c) g = GM/R

(d) None of them

 

Heat is

(a) A type of non visible fluid

(b) A type of energy

(c) Ultraviolet ray

(d) None of them

(xiv)

(xiv)

(xv)
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(xix)

(xx)

(xx)

(a) Equal to the wavelength of visible ray

(b) Greater than the wavelength of visible ray

(c) Very very less than the wavelength of 

      visible ray

(d) None of these

X- 
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The amount of work done on carrying unit 

positive charge from infinity to any where 

in the electrical field..

(a) Electrical field

(b) Electrical potential

(c) Gravitational field

(d) None of them

-1
(a) Nm

-1
(b) mN

2
(c) Kg/m

(d) None of them

(xvi)

(xvii)

(xvii)

(xvi)

11

(a) Light Amplitude shorted Emission of 

      radiation

(b) Light amplified stimulated emission of 

       radiation

(c) Life's aim successfully equiped randomly

(d) None of them

LASER 

of convensional source of energy

(a) Solar energy

(b) Wind energy

(c) Coal energy

(d) None of them 
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(xviii)

(xviii)

(xix)
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